The group G is isomorphic to the group labelled by [ 68, 4 ] in the Small Groups library.
Ordinary character table of G = D68:

la 2a 2b 17a 2c 34a 170 34b 17¢ 34c 17d 34d 17e 34e 17f 34f 17g 34g 17h 34h
x1 |1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
xa | 1 -1 -1 1 1 -1 1 —1 1 —1 1 -1 1 —1 1 —1 1 -1 1 —1
xs |1 -1 1 1 —1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
xa |11 —1 1 —1 —1 1 —1 1 —1 1 —1 1 —1 1 —1 1 ~1 1 —1
xs |2 0 2 EATN+EATY? 0 EQN*+EQN?2 BTN+ EQANY  EQNT+EQT° EAT?2+EQTY  EQN?2+EQTY® EA7)?+ EQTNY  EQ17)3+ E(17)4 E(17) +EQ17)°  EQNS+EQ1TY EAN*+EQN®  EQD*+EQT  EQT)+EQTY  EQT)+EQTS  EATNC+EQNY  EQT)S+ EQT)U
x6 | 2 0 2 EQAN3+EQN™ 0 EAT*+EQANY EQNS+EQT  EATS+ EQTY  EQ7)8 + E(17) EQ7®+ EQ7)°®  EQ7S+EQT?  EQ7°+EQN2 EQ72+EQATY  EQN:+EQNY  EAT)+EATS  EQT)+EQN®  EAT*+EQAT  EQN*+EQN®  EQAT"+ EQATY  EQ7)T + E(17)1°
xr |2 0 2 EQNS+EQNY 0 EAN*+EQNY  EQTS+EQT?  EQA7?+EQN?  EQT)+EQTS  EQT)+EQNY*  EQ7)"+EATY EQNT+EQN° EAT*+EQAT  EQD*+EQN®  EAT?+EQATY  EQN?+EQT)Y®  EQ17)®+ EBEQ17)° E(17)8 +EQ17)°  EQ7)3+EQTY  EBEQ7)??+ EQT)H
xs | 2 0 2 EQAN*+EQNY® 0 EA7?+EQNY  EQN'*+EQTS  EA*+EQN®  EQNS+EQTY  EANC+EQNY  EQANS+EQ1T)?  EQATE®+EQ7)?  EQT)+EATY EQNT+EQN® EQ7T)S+ EAT)?2  EQ7°+EQ17)2  E(17)3+ E(17)14 EQ7?+EQN™  EQT)+EQ17)S  EQ7)+ B(17)'
xXo |2 0 2 EQN"+EQANY 0 EQANT+EAT) EQ7*+EQT) EQN}+EQTY  EQND*+EQAT)  EQN*+ EQ1T7)' an+EQN  EQ17S+ EQT)Y (17) +EQ7)%  E(17)+ E(17)16 E(17)8 +E(17)°  EQN®+EQ17?  EQ7?+EQNY  EQ17)?+EQT)S  EQA7)?+ EQ7?  EQ17)5+ EQ17)!?
xo| 2 0 2 EANS+EQNTY 0  EA7:+EQ7)°  EQT)+EQTS  EQ7)+EQN  EQ7T)"+EAT)Y  EQ7)" + E(17)1° 17?2+ E(17N™  EQ7)?*+EQNY  EQAT°S+EQNY  EQATS+EQNY  EQA7)+ E(17)14 EQ7?+ EQNY  EQ7)*+EQN?  EQA7+ EQTN2  EQAD*+EQTE  EBEAT*+ EQT)S
xii| 2 0 2 EAD*+EQANS 0 EQN*+EATS  EAN 4+ E17)? EQATN 4+ E17)?  E(17)° + B(17)'? E(17)5 + B(17)12 (17) + BT  EQTN)+ EQT)C  EQA7}+ BT EQ7}+ BT EQANT+EATYC  EQANT+ EQATC  EQAN+ EAT)Y  EQN+ EAT)YY  EQT?+ EAT)Y®  EQ17)?+ E(AT)Y
xi2| 2 0 2 E(17) +EQN% 0  EQT)+EQNS BT+ EQTNY  EQA7)2+EQTY® EQA7?)+EQNY  EQ7T)3+EQTY  EBEAN*+EQN®  EQN*+ EQATS  EQA7’+EQTN2  EQTS+EAT?  EQTNS+EQNY EQTS+EATY  EQNT+EQNC EQT)+EQATY  EATE+EQTY  E(17)®+ E(17)°
xi3|2 0 -2 EAS+EQN? 0 -—-EQNS-EQT? EQN)"+EQTY —-EQ7)"-EATY EQ17)2+EQT)S —-E17)?2-EAT)Y EQ7)3+EQTY —-EQ7)32-EQATY EQT®+EQ17)? -—-EQ7®-E17)? EQN*+EQAT —-EBEA7T)*-EQT¥ EAT)+EQAT  —-EBQ7) - EQTY EATS+ EQTY —-EAT7T)¢ - EQT)Y!
xie| 2 0 -2 EQ7)3+EQNY 0 -—-EQ7)3-EQTY EQNS+EQTY —-EQTS-EQATY EQN®+EQ17)? —-EQ7)®-EQ17)? EQ7)S+EQT)'? —-E17)°-EQT? EQ17)?+EQT)Y —-E17)?-EQTNY EQ7T)+EQT  —-EBQ7) - EQNY BT+ EQNB —-EQ7)*-EQNB EBEQAT)"+ EQTNY —EQ7)T - E(17)'°
xi5|2 0 -2 EANS+EQANY 0 —-EA7S—-EQNY EQ17)°+E(A7T)? —-E(17)°-EQN? EQ17)+EAT® —-EQ17)-EQNY EQNT+EATY —EQA7)" -EQNY EQN*+EATY —-EBEA7*-EQN® EQN?+EATY —-EQ7)?-EQNY EQAN®+EB(17)° —-BEA7)®-EQ17)° EQ17)}+EATNY —EQ17)? - E(17)"
Xi6| 2 0 -2 EAT?2+EQAN® 0 —-EA7?-EQNY EQN*+EQTNY —EQN*-EQN® EANS+EATNY —EQ7S-EQNY EQN®+E17)? —-EA7)®-EQ17)° EQN)+EQATNY —EQ7) -EQ1NY EQ17)*+EA7)'? —-EQ17)° -E(1N2? EQ17}+EATNY —-EQ7)?-EQNY EQ17)+EA7T)S —EQ17) - E(17)'
xiz| 2 0 -2 EQN"+EQNY 0 -—-EQ7'-EATY EQ7)3+EQT4 —-EQ17)3-EQATY EQN*+EQT¥ —-EQ7T)*-EAT EQTS+EATY —-EAT)S-EQTY EQT)+EQT)S  —-EQ17) - EQATY  EQ7®+E17T)? -E17)®-E17)° EW7?+EQNY —-EQ17)?-EQTNY EQA7)+ EQ17)? —-E(17)° - E(17)'?
xis| 2 0 -2 EQAN®+EQ17? 0 —-EQ7®-EQ17)? EQ7)+EQNS —-E17)-EQT EQ7"+EQT —-E17)"-EATY EQ17)?2+EQAT)Y —-E17)?-EQTY EQ7TS+ EQTNY —-EA7T)¢-EQTNY EA7T3+ EQTNY —-EQ7)? - EQTNY EQ7T)S+ EQ7? —-EQ17)° - EQ7)? EQA7*+ EQTN¥ —-EQ7)* - EQ7)S
X192 0 =2 EQN*+EQN? 0 -—-EQN*-EQT)¥ EQN®+EQ17)? —-EQ7®-EQ17)? EQ7)S+EQT)? —-EQ17)5-EQT'? EQT)+EQT)S —-E17)-EQTY EQ7)3+EQTNY —-E17)?-EQNY EQAT)"+ EQATY —-EQ7)"-EQNY EBEAT)¢+ EQNY —-EQ7)¢ - EQNY EQ7)?+ EQT)Y —EQ17)? - EQ17)Y
xo0| 2 0 =2 EQT)+EQN® 0 -—-EQ17)-EQNS EA7??+EQNY —-EQ7)?-EQNY EBEQ7}+EQNY —-EQ7)? -EQNY EQND*+ EQN? —-EQN*-EQTN® EQTS+ EQ7)? -EQ17)°-EQ17? EQ7¢+EQTNY —-EQNS-EQNY EQN+EQNY —-EQ7)"-EQT EQAT®+E17T)? —-E(17)® - EQ17)°
Trivial source character table of G = D68 at p = 17:

Normalisers N; N Ny

p-subgroups of G up to conjugacy in G Py P

Representatives n; € N; la 2a 2b 2c |la 2b 2a 2c

O-x1+0-x2+1-x3+0-xa+1-xs5+1-x6+1-x7+1-xsg+1-x9+1-x0+1-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20 |17 -1 17 —-170 0 0 O

1-x1+0-x2+0-x3+0-xa+1-x5+1-x6+1-x7+1-xs+1-xo+1-x10+1-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x190+0-x20 |17 1 17 1 |0 0 0 O

O-x1+1-x2+0-x3+0-x4a+0-x5+0-x6+0-x7+0-xg+0-x9+0-x10+0-x11+0-x12+1-x13+1-xa+1-xi5+1-x6+1-x17+1-x18+1-x9+1-x0 |17 -1 =17 1 10 0 0 O

O0-x1+0-x2+0-x3+1-x4+0-x5+0-x6+0-x7+0-xg+0-x9+0-x10+0-x11+0-x12+1-x13+1-xa+1-xi5+1-x6+1-x17+1-xi8+1-x19+1-x0 |17 1 17 =170 0 0 O

1-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20| 1 1 1 1 1 1 1

0 x1+0-x2+0-x3+1-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x10+0-Xx20| 1 1 -1 -1}]1 -1 1 -1

O-x1+0-x2+1-x3+0-x4a+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-X10+0-X20 |1 -1 1 -1}1 1 -1 -1

O-x1+1-x2+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x90+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-X10+0-Xx20 |1 -1 -1 1 |1 -1 -1 1

P = Group([()]) = 1
= Group([(1,52, 36, 20,4, 56,40, 24, 8, 60, 44, 28,12, 64, 48, 32, 16) (2, 54, 38, 22, 6, 58,42, 26, 10, 62, 46, 30, 14, 66, 50, 34, 18) (3, 55, 39, 23, 7, 59, 43, 27, 11, 63,47, 31, 15,67, 51, 35, 19) (5, 57,41, 25,9, 61,45, 29, 13, 65, 49, 33, 17, 68, 53, 37, 21)]) = C17
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Ny = Group([(1,2)(3,5)(4,66)(6,64)(7,68)(8,62)(9, 67)(10, 60)(11, 65)(12, 58) (13, 63) (14, 56)(15,61)(16, 54) (17, 59) (18, 52) (19, 57)(20, 50) (21, 55)(22, 48)(23, 53) (24, 46)(25, 51) (26, 44) (27, 49) (28, 42) (29, 47) (30, 40) (31, 45)(32, 38)(33, 43)(34, 36) (35, 41) (37, 39), (1, 3)(2, 5) (4
(

,12,16,20, 24, 28, 32, 36, 40, 44, 48, 52, 56, 60, 64) (2
= Group([(1,52, 36, 20,4, 56,40, 24, 8, 60, 44, 28, 12, 64, 48, 32, 16)(2, 54, 38, 22, 6, 58, 42, 26, 10, 62, 46, 30, 14, 66, 50, 34, 18)(3, 55, 39, 23, 7, 59, 43, 27, 11, 63, 47, 31, 15, 67, 51, 35, 19) (5, 57, 41, 25,9, 61, 45, 29, 13, 65, 49, 33, 17, 68, 53, 37, 21), (1,2)(3, 5)(4, 66)(6, 64)(7, 68) )

6,10, 14, 18, 22, 26, 30, 34, 38, 42, 46, 50, 54, 58, 62, 66)(3, 7, 11, 15, 19, 23, 27, 31, 35, 39, 43, 47, 51,55, 59, 63, 67)(5, 9, 13, 17, 21, 25, 29, 33, 37, 41, 45, 49, 53, 57, 61, 65, 68)]) = D68
13)(12, 15)(14, 17)(16, 19)(18, 21)(20, 23) (22, 25) (2

(24, 27)(26, 20) (28, 31)(30, 33) (32, 35)(34, 37)(36, 39) (38, 41)(40, 43) (42, 45) (44, 47) (46, 49) (48, 51)(50, 53) (52, 55) (54, 57) (56, 59) (58, 61)(60, 63) (62, 65) (64, 67) (66, 68)]) = D68
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